[444

sdwnd pajunow-abueyy ‘Buijooy) suibug

gy auuely duing uosuyor X4S jo Auadoid ayy si ‘uononiisuoo pue ubisep deouod o' Jonpoid ay)

For Pumps and Parts
go to PumpVendor.com

F75B-9 Impeller pump
Art. No. 10-24413-01

Part. No. Description GB Position Quantity
01-13123-1 |BODY F75B-9 1 1
01-46146 CAM 1/1 F75B 2 1
08-821B IMPELLER F75B 3 1
01-35685 SHAFT F75B-9 4 1
01-46285 ENDCOVER F75B-9 5 1
01-46286 GASKET F75B 6 1
01-42443 WEARPLATE F7B/F70B 7 1
01-42400 PIN F35B-/F7B/F70B 8 1
01-24414-1 |BEARING HOUSING F75B-9 9 1
01-46284-1 |SPACER F75B-9 10 1
01-42427-15 | SLINGER F8/F9B- 11 1
0.0370.525 |EXT. CIRCLIP D25 DIN471 ST 12 2
0.0371.062 |RETAIN. RING BORE D62 DIN472 SPRST 13 1
01-46790-02 | WASHER D8.2XD14X1 CU 14 1
0.0503.032 |WOODRUFKEY 5X6.5X16 DIN6888 ST 15 1
0.2247.008 |MECH.SEAL COMPL FA25.47.14 16 1
0.2233.351 |LIP SEAL 25X47X10/7 17 1
0.3431.001 BALL BEARING 6205 2 RS C3 ST 18 1
0.3431.044 |BALL BEARING 6305 2RS C3 ST 19 1
0.0141.502 |SCREW M5X8 DIN933SLOTTED BRASS 20 6
01-46794-12 | SCREW M8X12 AL.BRONZE 21 1
0.0141.918 |TAP BOLT M8X25 DIN933 8.8ZP 22 4
0.0353.309 |SPRINGWASH D8.2 DIN127 STZN 23 4

Engine cooling


http://www.pumpvendor.com

For Pumps and Parts
go to PumpVendor.com

gy euue|y dwng uosuyor Xd4s Jo Auedoid ayj si ‘uononiisuoo pue ubisep ‘1deouod o1 ‘ponpoid ay)

Tolerances azz 70 10
Toleronser enligt 50

i size Linifs of deviation
14) 21 7) (12 (® @e) (1 49 10 (@ 12 (8 B | T e
RN W N ] @ @ 860h7 [0 [-0,030
g 42
B B -
e & /
V _ L
/
/
i A 1
A | P e e ke bt 228 ! !
bl
el I | T - - ,
1 T } el 1 ( B A
g%h T U TNE. = - 34
) e 1 N ) < N
P 2" NN e \ RN , v
] NS a%}a \ + R 4 - : /@ot T'°~\ \ | "
|
IN IN <
@— AR o VAN A
-
i H if‘ ; Sd = o o VA ) JOHNSON PUMP g};
B SLUETETHE 8y e .
@\ 18 © |8
| —datd § )
x|
@\‘ Kona 1:5 3
Taper 1:5 =
v TH
U = |
@3 @2 2 e 170
Ritni I I :
1 BE_- 8 Dl o PUD e ST | PUmi | MECUrRAcoes, | Admarioio
112 65 -
X R
40 .
R 1, | TS oo |Fuss | (eI | ez
R e ——
i A A . A
¢ i ] &
N ~ i~
— g \\L

Detalinummer enligt lista
Part rJlos awordinggtoﬂpygr':s list ‘

Johnson Pump AB , Oerebro Sweden

€ivve-ol

sdwnd pajunow-abueyy ‘Buijooy) suibug

19144

Q o
S © 7
5
5
S
4+ o
[T [ [
e | Rz [ Mkl [
Ior ¢ amat angiits galer Tiiass offerwise sTated The folloving Gpplies.
o il itz el
e SO | R
© 1991 Johnson Pump OHNSON PUMP! i i Filetrad
_ \rebro Sweden DREBRO - SWEDEN | "“Eeieaes ‘”ﬂW oot i
G7 mmznm plgxmm"?: 920930 PJ Tiel T Tt Lafe o ‘Shln Scale
FTF1 Ing and ol arrangemen! . . E @
D8,C7| 951, 844, 84, M8 was a45, 938, 81, 516" UNC ozs | M Godand ov/ Agproved by . le?g?::oifwgm RE 1 v fte
F1_| 45,5 was 43,5. Placoment of dim. adjusted. | 910530 | PJ [ L [ T LY
e [ = | sm | 1221] P04 | D2 | Markon endcover changed. %0613 | IG | ‘ ‘ Type F758-9 03'24413 P04

6-96/4 dwnd


http://www.pumpvendor.com

	Button01-left: 


